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QUADRATIC EQUATIONS

Others

1. The number of roots of the equation


is=
(x + 2)(x − 5)

(x − 3)(x + 6)

x − 2

x + 4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RFpSD0ZqxlM5


A. 1

B. null

C. null

D. null

Answer: A

Watch Video Solution

2. If 
 are the roots of the equation


 the roots of the

α, β

x2 + px + 1 = 0; γ, δ

https://dl.doubtnut.com/l/_RFpSD0ZqxlM5
https://dl.doubtnut.com/l/_MQlqL2ctzM5Y


equation 
 , then 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + qx + 1 = 0

(α − γ)(α + δ)(β − γ)(β + δ) =

q2 − p2

p2 − q2

p2 = q2

https://dl.doubtnut.com/l/_MQlqL2ctzM5Y


3. The number of real solutions of


is

Watch Video Solution

∣∣2x − x2 − 3∣∣ = 1

4. The number of real roots of

Watch Video Solution

(x2 + 2x)
2

− (x + 1)2 − 55 = 0

https://dl.doubtnut.com/l/_V0Pl4Ww1xwdq
https://dl.doubtnut.com/l/_68KQX6CYYwLs


5. If 
 are the roots of the equation 

, then 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

α, β

ax2 + bx + c = 0

+ =
1

aα + b

1

aβ + b

c

ab

a

bc

b

ac

https://dl.doubtnut.com/l/_lc92UYhJhNls


6. If 
 are roots of the equation 

 then 
 is equal to



(b) 
(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

α, β

x2 + 3x + 7 = 0, 1/α + 1β

7/3 −7/3 3/7 −3/7

7/3

−7/3

3/7

−3/7

https://dl.doubtnut.com/l/_oPT6yB0yJdsl


7. The values of 
 satisfying

 are
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

x

(log)3(x
2 + 4x + 12) = 2 2, − 4

1, − 3 −1, 3 −1, − 3

8. The complete set of values of  for which

the quadratic  has equal

roots, consists of

A. 

B. 

k,

x2 − kx + k + 2 = 0

2 + √12

2 ± √12

https://dl.doubtnut.com/l/_4GjB3J9lqXbv
https://dl.doubtnut.com/l/_ru44k7P4Jx8D


C. 

D. 

Answer: B

Watch Video Solution

2 − √12

−2 − √12

9. For the equation 
 , the

sum of the real roots is
 (a) 
 (b) 
 (c) 
 (d)

none of these

Watch Video Solution

∣∣x
2∣∣ + |x| − 6 = 0

1 0 2

https://dl.doubtnut.com/l/_ru44k7P4Jx8D
https://dl.doubtnut.com/l/_HsFmPdshCL5O


10. The equation of the smallest degree with

real coefficients having 
 as one of the

roots is
 (a) 
 (b) 


 (c) 
 (d) 

Watch Video Solution

1 + i

x2 + x + 1 = 0

x2 − 2x + 2 = 0 x2 + 2x + 2 = 0

x2 + 2x − 2 = 0

11. The value of  and 
 for

which 
 are the roots of the equation 


 are
 (a) 
 (b) 

p q(p ≠ 0, q ≠ 0)

p, q

x2 + px + q = 0 p = 1, q = − 2

https://dl.doubtnut.com/l/_Ziw0ZcJSASwd
https://dl.doubtnut.com/l/_yGqDjyMrhzgp



 (c) 
 (d) 

Watch Video Solution

p = − 1, q = − 2 p = − 1, q = 2

p = 1, q = 2

12. The number of solution of


is
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

x2 + |x − 1| = 1 0 1 2 3

13. If  is real and 
 , then



 (b) 
 (c) 
 (d) none of

x k =
x2 − x + 1

x2 + x + 1

k ∈ [ , 3]
1

3
k ≥ 3 k ≤

1

3

https://dl.doubtnut.com/l/_yGqDjyMrhzgp
https://dl.doubtnut.com/l/_qcl7UGU095kj
https://dl.doubtnut.com/l/_QKN7Ziz8p6OK


these

Watch Video Solution

14. The one root of the equation

 is  while the equation 

 has equal roots, the value of 


is

A. 

B. 

C. 

x2 + px + 12 = 0 4,

x2 + px + q = 0

q

49
4

4
49

4

https://dl.doubtnut.com/l/_QKN7Ziz8p6OK
https://dl.doubtnut.com/l/_QCMJBVUifwST


D. none of these

Answer: A

Watch Video Solution

15. If the equations  and 


 have a non-zero common

roots, then 

A. 

B. 

x2 + 2x + 3λ = 0

2x2 + 3x + 5λ = 0

λ =

1

−1

https://dl.doubtnut.com/l/_QCMJBVUifwST
https://dl.doubtnut.com/l/_0D1sHdMvB747


C. 

D. none of these

Answer: B

Watch Video Solution

3

16. Solve the quadratic equations
by using the

general expressions for the roots of a

quadratic equation:

Watch Video Solution

x2 − (3√2 − 2i)x − 6√2i = 0

https://dl.doubtnut.com/l/_0D1sHdMvB747
https://dl.doubtnut.com/l/_GUqGTnkiRL0I


17. Write the number of real roots of the

equation 

Watch Video Solution

(x − 1)2 + (x + 2)2 + (x − 3)2 = 0.

18. Solve:

Watch Video Solution

x2 − (7 − i)x + (18 − i) = 0overC.

https://dl.doubtnut.com/l/_GUqGTnkiRL0I
https://dl.doubtnut.com/l/_xXIaLZLyPo0s
https://dl.doubtnut.com/l/_x1mUgQVsPez2
https://dl.doubtnut.com/l/_Exghws5xirab


19. If 
 are roots of the equation 


 then write the

value of 

Watch Video Solution

α, β

x2 − a( × + 1) − c = 0,

(1 + α)(1 + β).

20. Write the roots of the equation

Watch Video Solution

(a − b)x2 + (b − c)x + (c − a) = 0.

https://dl.doubtnut.com/l/_Exghws5xirab
https://dl.doubtnut.com/l/_pAYLgQtIQcE1


21. The least value of 
which makes the roots

of the equation 
 imaginary is

(a) 
(b) 
(c) 
(d) 

Watch Video Solution

k

x2 + 5x + k = 0

4 5 6 7

22. If 
 are the roots of the equation 


 are the

roots of the equation (a) 
 (b) 


 (c) 
 (d) 

α, β

x2 + px + q = 0, then − , −
1

α

1

β

x2 − px + q = 0

x2 + px + q = 0 qx2 + px + 1 = 0

qx2 − px + 1 = 0

https://dl.doubtnut.com/l/_k8NxACL8jqHC
https://dl.doubtnut.com/l/_wMQQYpXMz3TT


Watch Video Solution

23. Solve the equation 
by

factorization method only.

Watch Video Solution

9x2 − 12x + 20 = 0

24. The set of all values of 
 for which both

the roots of the equation


 are real and

negative is
 (a) 
 (b) 


(c) 
(d) 

m

x2 − (m + 1)x + m + 4 = 0

( − ∞, − 3] ∪ [5, ∞)

[ − 3, 5] ( − 4, − 3] ( − 3, − 1]

https://dl.doubtnut.com/l/_wMQQYpXMz3TT
https://dl.doubtnut.com/l/_HhzQeCTLwctv
https://dl.doubtnut.com/l/_QKasGrVg56gd


Watch Video Solution

25. Solve the following quadratic equations
by

factorization method: 
 (ii) 

Watch Video Solution

x2 − 5ix − 6 = 0

x2 + 4ix − 4 = 0

26. Solve the equation 

by using the general expression for roots

25x2 − 30x + 11 = 0

https://dl.doubtnut.com/l/_QKasGrVg56gd
https://dl.doubtnut.com/l/_OQx2IktvBCWk
https://dl.doubtnut.com/l/_kqhtsMP2zhFk


quadratic equation 
 we

get: 
.

Watch Video Solution

ax2 + bx + c = 0,

a = 25, b = − 30 and c − 11

27. Solve: 

Watch Video Solution

2x2 − (3 + 7i)x − (3 − 9i) = 0

28. The value of 
 for which the quadratic

equation 
 has real

k

kx2 + 1 = kx + 3x − 11x2

https://dl.doubtnut.com/l/_kqhtsMP2zhFk
https://dl.doubtnut.com/l/_jkMVEk0sbXg2
https://dl.doubtnut.com/l/_i0ogXgOjDaQG


and equal roots are
 (a) 
 (b) 
 (c) 


(d) none of these

Watch Video Solution

−11, − 3, 5, 7

5, − 7

29. The value of a such that 

and 
 may have a common

root is

A.  & 

B.  & 

C.  & 

x2 − 11x + a = 0

x2 − 14x + 2a = 0

0 24

0 12

2 24

https://dl.doubtnut.com/l/_i0ogXgOjDaQG
https://dl.doubtnut.com/l/_K9RnLL1BGc2I


D.  & 

Answer: A

Watch Video Solution

12 32

30. If the roots of 
 are two

consecutive integers, then 
 is
 (a) 
 (b) 

(c) 
(d) none of these

Watch Video Solution

x2 − bx + c = 0

b2 − 4c 0 1

2

https://dl.doubtnut.com/l/_K9RnLL1BGc2I
https://dl.doubtnut.com/l/_rvaskeyHXSoO


31. Solve the equation 
 by

factorization method.

Watch Video Solution

4x2 + 9 = 0

32. Solve the equation 
 by

factorization method.

Watch Video Solution

x2 − 4x + 13 = 0

https://dl.doubtnut.com/l/_PwxG0a3h3pPw
https://dl.doubtnut.com/l/_l4sZJ0xNsY6a


33. Solve the quadratic equation


 by using the general

expressions for the roots of
 a quadratic

equation.

Watch Video Solution

2x2 − 4x + 3 = 0

34. Solve the following quadratic equation by

factorization method only: 

Watch Video Solution

x2 + x + 1 = 0

https://dl.doubtnut.com/l/_MN1dAM6bxa6z
https://dl.doubtnut.com/l/_FSLz1IWLlKmF
https://dl.doubtnut.com/l/_Ohh0ywHGU5LD


35. Solve the following quadratic equation by

factorization method only: 

Watch Video Solution

 x2 + 2x + 5 = 0

36. Solve the following quadratic equation by

factorization method only: 

Watch Video Solution

x2 + x + 1 = 0

https://dl.doubtnut.com/l/_Ohh0ywHGU5LD
https://dl.doubtnut.com/l/_60CnxBSllRlQ


37. Solve the following quadratic equation by

factorization method only: 

Watch Video Solution

9x2 + 4 = 0

38. Solve the following quadratic equation by

factorization method only:

Watch Video Solution

 4x2 − 12x + 25 = 0

https://dl.doubtnut.com/l/_YDB6m4S3uUUu
https://dl.doubtnut.com/l/_PAX5pzQS1qpj


39. Solve the following quadratic: 

Watch Video Solution

4x2 + 1 = 0

40. Solve the following quadratic:

Watch Video Solution

x2 + 2x + 2 = 0

41. Solve the following quadratic:

21x2 + 9x + 1 = 0

https://dl.doubtnut.com/l/_JHR2tN7wvPPl
https://dl.doubtnut.com/l/_alIuPlaOuWud
https://dl.doubtnut.com/l/_I3awhkDcl08N


Watch Video Solution

42. Solve the following quadratic:

Watch Video Solution

 x2 + x + 1 = 0

43. Solve the following quadratic:

Watch Video Solution

27x2 − 10x + 1 = 0

https://dl.doubtnut.com/l/_I3awhkDcl08N
https://dl.doubtnut.com/l/_SvQYgiWaCZPn
https://dl.doubtnut.com/l/_wUWDwpHnAAs8
https://dl.doubtnut.com/l/_jV5zqMzyUE5Y


44. Solve the following quadratic:

Watch Video Solution

21x2 − 28x + 10 = 0

45. Solve the equation:

Watch Video Solution

√3x2 − √2x + 3√3 =  0

https://dl.doubtnut.com/l/_jV5zqMzyUE5Y
https://dl.doubtnut.com/l/_hxsSCOB442x6


46. Solve the following quadratic:

Watch Video Solution

x2 + x + = 0
1

√2

47. Solve 
.

Watch Video Solution

√5x2 + x + √5 = 0

48. Solve the following quadratic:

 x2 − 2x + = 0
3
2

https://dl.doubtnut.com/l/_F8SuXiuzfvqk
https://dl.doubtnut.com/l/_3uFertjL6tnr
https://dl.doubtnut.com/l/_7nyvdEowXfzg


Watch Video Solution

49. Solve the following quadratic:

Watch Video Solution

 x2 − 4x + 7 = 0

50. Solve the following quadratic:

Watch Video Solution

 5x2 − 6x + 2 = 0

https://dl.doubtnut.com/l/_7nyvdEowXfzg
https://dl.doubtnut.com/l/_68ZLg1HsM6i5
https://dl.doubtnut.com/l/_ZzJgWy2usNkA
https://dl.doubtnut.com/l/_CAFpcAJNneSK


51. Solve the following quadratic:

Watch Video Solution

x2 − x + 1 = 0

52. Solve the following quadratic:

Watch Video Solution

17x2 − 8x + 1 = 0

https://dl.doubtnut.com/l/_CAFpcAJNneSK
https://dl.doubtnut.com/l/_gUjTijJTARgi


53. Solve the following quadratic:

Watch Video Solution

 8x2 − 9x + 3 = 0

54. Solve the following quadratic:

Watch Video Solution

2x2 + x + 1 = 0

https://dl.doubtnut.com/l/_zXlAzaMfGwhO
https://dl.doubtnut.com/l/_3og3Z8uiH1NY


55. Solve the following quadratic:

Watch Video Solution

 √2x2 + x + √2 = 0

56. Solve the following quadratic:

Watch Video Solution

 x2 + + 1 = 0
x

√2

https://dl.doubtnut.com/l/_JyN9MVemaO3z
https://dl.doubtnut.com/l/_Sf3NOfJAwTsU


57. Solve the following quadratic:

Watch Video Solution

−x2 + x − 2 = 0

58. Solve the following quadratic:

Watch Video Solution

 3x2 − 4x + = 0
20

3

https://dl.doubtnut.com/l/_IMse70hAAsOB
https://dl.doubtnut.com/l/_EIavJX4dj8yo


59. Solve the following equation by

factorization
method: 

Watch Video Solution

x2 − √2i x + 12 = 0

60. Solve the following equation by

factorization
method: 

Watch Video Solution

3x2 + 7ix + 6 = 0

https://dl.doubtnut.com/l/_feBd8SeUfuUJ
https://dl.doubtnut.com/l/_in6NHaYamD15


61. Solve the following equation by

factorization
 method:

Watch Video Solution

 x2 − (3√2 + 2i)x + 6√2i = 0

62. Solve the following quadratic equation by

factorization method: 

Watch Video Solution

 x2 + 10ix − 21 = 0

https://dl.doubtnut.com/l/_Ja0EbWnvX2FK
https://dl.doubtnut.com/l/_xh5U76Uc3eTG


63. Solve the following quadratic equation by

factorization method:

Watch Video Solution

  x2 − (2√3 + 3i)x + 6√3i = 0

64. Solve the following quadratic equation by

factorization method:

Watch Video Solution

  x2 + (1 − 2i)x − 2i = 0

https://dl.doubtnut.com/l/_tpHZRDy97qpF
https://dl.doubtnut.com/l/_EtmEyAPN1ZHG
https://dl.doubtnut.com/l/_jjkoVRGo3X93


65. Solve the following quadratic equation by

factorization method: 

Watch Video Solution

  6x2 − 17ix − 12 = 0

66. Solve the following quadratic equation:

Watch Video Solution

(2 + i)x2 − (5 − i)x + 2(1 − i) = 0

https://dl.doubtnut.com/l/_jjkoVRGo3X93
https://dl.doubtnut.com/l/_jZPjr4OwrtyW


67. Solve the following quadratic equation:

Watch Video Solution

 ix2 − 4x − 4i = 0

68. Solve the following quadratic equation:

Watch Video Solution

 x2 − (5 − i)x + (18 + i) = 0

https://dl.doubtnut.com/l/_6BwK4W1Whg3W
https://dl.doubtnut.com/l/_wPal8hiHH6Zt


69. Solve the following quadratic equation:

Watch Video Solution

 x2 − (2 + i)x − (1 − 7i) = 0

70. Solve the following quadratic equation:

Watch Video Solution

 x2 + 4ix − 4 = 0

https://dl.doubtnut.com/l/_3H6xt0XLaUKw
https://dl.doubtnut.com/l/_V0k9RAAxUZvg


71. Solve the following quadratic equation:

Watch Video Solution

2x2 + √15ix − i = 0

72. Solve the following quadratic equation:

Watch Video Solution

 ix2 − x + 12i = 0

https://dl.doubtnut.com/l/_N2k9lys0tIME
https://dl.doubtnut.com/l/_JPdqL1pSUHUw


73. Solve the following quadratic equation:

Watch Video Solution

 x2 − (3√2 − 2i)x − √2i = 0

74. Solve the following quadratic equation:

Watch Video Solution

 2x2 − (3 + 7i)x + (9i − 3) = 0

https://dl.doubtnut.com/l/_fG1TQlQpURGs
https://dl.doubtnut.com/l/_vxGuy8wGFMJA


75. If 
 are roots of the equation 


 ,then write the value of 

Watch Video Solution

a and b

x2 − px + q = 0

+ .
1

a

1

b

76. If roots 
 of the equation 


 satisfy the relation 


, then write the value of 

Watch Video Solution

α, β

x2 − px + 16 = 0

α2 + β2 = 9 p.

https://dl.doubtnut.com/l/_2L3uRNRzbFf3
https://dl.doubtnut.com/l/_idS4b4gcVrMm
https://dl.doubtnut.com/l/_51wUKpSPPAE4


77. If 
 is a root of the equation 


 , then write the values of 


.

Watch Video Solution

2 + √3i

x2 + px + q = 0

p and q

78. If the difference between the roots of the

equation 
 is 2, write the

values of 

Watch Video Solution

 x2 + ax + 8 = 0

a.

https://dl.doubtnut.com/l/_51wUKpSPPAE4
https://dl.doubtnut.com/l/_RXK9Xpa0PYQ1
https://dl.doubtnut.com/l/_14jF9AZoZ2Im


79. If 
 are roots of the equation 


 then write the value of 

Watch Video Solution

a and b

x2 − x + 1 = 0

a2 + b2.

80. Write the number of quadratic equation

with real
 roots, which do not change by

squaring their roots.

Watch Video Solution

https://dl.doubtnut.com/l/_14jF9AZoZ2Im
https://dl.doubtnut.com/l/_CcyvH5k7ZRkR


81. If 
 are roots of the equation 


 , write an equation whose

roots are 

Watch Video Solution

α, β

x2 + lx + m = 0

−   and − .
1

α

1

β

82. If 
 are the roots of the equation 

, then  =

Watch Video Solution

a, b

x2 + x + 1 = 0 a2 + b2

https://dl.doubtnut.com/l/_ZgAQBPf7MyXB
https://dl.doubtnut.com/l/_2lDMFsBGoKLJ


83. If  and 
 are the roots of 


 , then the value of 

is
`

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α β

4x2 + 3x + 7 = 0 +
1

α

1

β

4
7

−
3

7

3

7

3

7

https://dl.doubtnut.com/l/_JAu7VBeASnHk


84. If the difference of the roots of


is unity, then 


a) 
 b)  c) 


 d) 

Watch Video Solution

x2 − px + q = 0

p2 + 4q = 1 p2 − 4q = 1

p2 + 4q2 = (1 + 2q)2

4p2 + q2 = (1 + 2p)2

85. If 
 are the roots of the equation 


 then 

α, β

x2 − p(x + 1) − c = 0

https://dl.doubtnut.com/l/_h6AmNfKMn6lu
https://dl.doubtnut.com/l/_s58WNVuYT3j7






a) 
b) 
c) 
d) none of these

Watch Video Solution

(α + 1)(β + 1) =

c c − 1 1 − c

https://dl.doubtnut.com/l/_s58WNVuYT3j7

